. - 9

@ F(x) = [{X

r§-3

F(’S)::ZE = Lc::-i- o
Thua W’f:‘:"‘m" - I: a8 x dox = {_%sxt]; = 1. (25-9)
200 | A fb.66F T

3

< = NOTE: Hhia i the
@ r()=5 ]= k=5 } LSl e
0

%)= W= = (henie e worle
F(3)=20 k- (&) =2 23, | g el

3 3 y] \ 3 ‘[:!ffl'oi‘?}; TI"LWOLL
3 = ‘X = = ) a [T
W=_YZ (k‘x")&x = Sz. 5-X Ah( = [ 5X ]z +£%t“d?f:§“
wou = ]

B &= Either 574 0576

= -5/3+5k =\567 0.433 7. i “"ﬁ,",‘:‘j“‘“fﬁf
0
PN, wcu“:/wmu

@ 0) p(ﬁ)\/(‘ﬁ) = Yt?-\T(f)

siice Plt)= FRVA = l;-‘-.x(f)'b"

and Vid)= A xH)
Haia cpive
Ko™ Axl)= viRT)

= |y X&) = TH)




B TW-Ta= & (xE™ @) p2/6

while. ot othesliand, the wo«h dre by Hhe gan o
gx(a

W= F(xmx = 5 lexl "Jx

£x(a)
k il X(h)
-— —— ¥
= {:‘M Ea ]ma)

=]y (™)
Cwene 4 TOTAl o SR i contast

So tempndiune chx s dinedly propertiond to werle.

9 o) ["lxctdx = (b)) = ledulb).

b) Lim bl =en. Thia vaeaw hak the gar door av
” wlmc\4 W "

® AMer x woos o cadde have been Lifted up, 100-X widors o
cade newmedn, so 4he devmpnin the cable ia

\0Ow F(x)" [(\00 X) 04 + ‘OO} q
"‘([ A

L
\COleg wok
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5o the doted wolk vieeessny i p3/6

160
J' [(lw-x)-O-‘-l +100]‘qo\x

o)
= Q.I:O(HO‘ %X)O\X
= g [Hox-£ %],
= g-[ 14000 - 2000)

= [1Z000-g) %22

~ 1200098 = |1#,6003]
amuming g = 9.3wlist

©

. g = B A= (-3,4.0)
8 = &8 = (0-45)
&= h-T=(309
./%B.o.o)
B(0M0)

Sl&ﬁo,m’r\ru |m‘= JZ"-&-L(‘.;O‘ = 5
|Be| = JorrHst = {41
\Chl = 3%0 8] =34

— 30,5)(-3.4,0) _ 9
MKoAR (3,0,5)- ) =

oo cofeCAB) = aziinel - 5 TA ) B
e _ (3400745 o ==
cos (CARY = @mil®@l = T g - ZSW‘
2. A (305 =
cos(¢BN = Frial = ‘&ﬂ“%—%—gﬁ' RAEED
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so the sidey & angly are aa chown.

<[25
s (T (a\.- H7.96°)
<o 0 - e 07°
Zos 5 2 o8 () (~ 72.02°)
(= 60.02°)

@ We lenow thak

Xoo(e 4 _3.>
[Vl '3, 13, B8

Thoebne (1= Blem|  and

oand Ve l(0.01) =3 k.

J=(1z,4,3).

Ploves positim o plt) = (02,00 + £V, w o

Wl= €02 4 anh T povk Bom (020 0o (045)
Thus

g _ (owg)-lowd _ Lo 12,5) _ (0.% £
Nl - \lows)- (2ol L0250 ', ™

= v = 0.2.'(0, %% = (0, ' _65.'5’

= ﬁ({:)? (O, 2.+ '\357'"1:, —6%-{_-) leilowmeders,
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Thuas the datane to Yhe towen i

| P - (-1, 0.4))

=| (3, 2+ ¢, £t-D)

?UT—‘DI* B (L) + (%f‘é)lj

x | 0.25 +(0.185¢+2)%+ (0.0%9-0.2)
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Rk u= sV e A=

Au"—:‘},—_:,é\h( V=X

ﬁ/'& nh- , W--'l")“l
= \ ) - - o
[x-sm'(x)] e . T Ax Aw ==2xAx
3 m_ 1 llz!Aw
= Zz'3° 'i
3/4 3
TE_ T dw _ Bz _{ W],
= '—6}""\—_{_ - guq ZT\;J 6 \2 ‘. =

@ Let §(x) = Assin(zx)+ B coslx). Then by Pre same MaNDWNg
o W PSLH moblem 10,

§ 5&)51»/1(?.\ = mA
( f)cos¥dx = TB
("= T (A%+RY).
Leting A=3, B=H will weeh the duaed condition

J?(Ys) = 3sin(2) +Hwosx




